
Name: ______________                                    5-a-day                                    Further Maths
3rd November                                                     

Use differentiation to find the value of x 
for which A is a maximum

A farmer creates a rectangular pen for 
his chickens.

     �

The width of the field is  �  metres.

The perimeter of the field is 120 metres.

x

Solve   �    for  �3cosθ = 1 0∘ ≤ θ ≤ 360∘

Show that the area of the field is  
�A = 60x − x2

Expand and simplify fully 

�(x − 9)(x − 3)(x − 2)

Show that the length of the rectangle is  
�   metres60 − x
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